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And perhaps it is the Ohshom of a - Xy P1%% QWKRY 9571 WK RAPIT
Nohzir or the Ohshom of a Me’Tzoyroh

Overview

After the X773 explained that there is no concern that the found cow was an owX
(since for an aWX the requirement is that the animal be in its second year, and this
found animal was in the first year), the X713 asked but perhaps this found animal
may be either an 7°11 QWX or an ¥y71¥7 WX which is a yearling. modn continues to
explain why we cannot stipulate and include the owk with the on>w.

nooIn asks:
- o901 17 IV 29NY DTV NING XN YN DUN 9NN ON)

And if you will say; at least by the y21x% awR let him stipulate with the 2 5w,
for the y71¥n owR and 07w are equal in their 295817

N1B0IN answers:
- 39513 DUN 2IN 0PI YN DUN) 2991 DUND ROVIP 97997 1Y U

And one can say; that the main question was from =°1 2wX which does not
require 2°201), and he merely mentioned ¥=1%% 2awR on account of 211 awWN.

moon offers an additional answer:
= NIINNX NYYN NN Y981 OWUNAT 999 ¥ Ny

One can say furthermore, that by y213%» 2wN there is another concern -
- Sya181 N9 NOMY C¥N8n MNNA HY 1T I TA8Y

For it is necessary to place some of the blood on the thumbs of the ya1x%, and
here there is no yx».

mooIn offers a final solution:
— 05YA QYN NINY 9990 PRT IXIPN PYNY 13929 290 9N MY
Additional the >$ypn pwnY 9799 answered that we cannot say that he should

' See previous X1 aWR X171 1"7 ‘0 (footnote # 9) that we cannot stipulate by an owx since it has no 2201 and a
o°n7w has; therefore N0 here asks that by an ¥y11¥» awk where there are 0°301 (see 83,7 [¥¥n] X7p7), he should
be able to stipulate that if the found cow was an ¥y11¥n owx this should be an y11¥»n awy, and if it was a 7w this
should be a o'n7w and offer it on the nams with the 0°301 which are required for either of them.

* By =11 0wX he cannot stipulate since there are no 2°301 by =11 DwX (as Moo explained previously X7 oW X127 77"72).

? Perhaps the X3 mentioned ¥1%» owX also for they are the (only) NMawx that are 73w 12 and not 0nIw *12.

*See 1,7 (y¥) KAPM that NI 1937 72 931 NP2 17 173 DY NP1 A0 TR IN 9V 10N awRT 0T 117 AP,

> Therefore there is seemingly no way to rectify this 1277 (if it was an ¥17%» owX) even if we bring an additional
animal for the ¥y7xn awx exclusively.
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stipulate an 2wy with the 2om>w -
— N8IV Y79 XY 1PNNH 9NN N2 DUNND TaANIY OUNN Y¥a ¥9 9n1Y IN 09N XYY

For perhaps the original owner of the awr will realize today or tomorrow that
his 2wX was lost, and he will bring another owX in its stead, but he will not

know that his original 2wX was found and brought as a wx 1277 (through this stipulation) -
- ®4nNa 112 199595V DYUN N7 DIYN NITYY PIIN NAIW NN NN

So that the owx which the owner will bring will be 7=1p» %17, since it is an

awN, which its owner was already atoned for with another owx -
- 'NDIN [1199999)] (390YY)

For that 9182 7°7v2 17195n1w oW needs to be sent out to (die) [pasture].
- S35 MUPAY S8 KT NN XHWD)

And now it is clear that that it is not possible to ask anything (on the question of
X177 QWK Xn?°7), as Mo asks in these last two MdOIN) -
$11273 N2 NYIY Y9NV HINK NHIY N2 ON NN WNMNIY NIY 911519:1 Yan

However regarding an 797 (or a 2°'»%v) this concern that the owner may bring
another 7797, does not exist, for an 779 can be brought voluntarily.

Summary
An yMxn WK requires 0°301 (like a 0%W) nevertheless the question was from 7°11 QWX

(which has no 2°201), or he cannot stipulate even by ¥y11xn awX because there can be no
nmnaa . Or there can never be a stipulation by any owX because of 77v2 P2,

Thinking it over
Why cannot the finder stipulate'® that if the owner will bring an owx, this should be
considered a pnow?"!

% Once the finder will bring this animal for an owx (through stipulation [or in any other manner]), the owner will
have been 195n» and he needs no more to bring an owX. The awX that the owner will offer subsequently will have no
TR (since we cannot bring an owX voluntarily as a 7271), it will remain 7217, and when he brings it unknowingly
to the p"nm2 for an awR he is bringing 771y P20, which is prohibited.

7 An TnR2 7°9v32 19amw owk (he designated one animal for an owx and it became lost, so he brought another owx,
and then the original animal was found, it), needs to be sent out to graze, and after it receives a O, it is redeemed
and the money is used for naran v°p (this is in contrast to a R 7°9¥2 M9 NXVA, where the animal is starved to
death). Seemingly NN is mentioning this in case the owner brought his replacement awx before the finder brings the
redeemed found owX. The found awR is an 7°7¥2 192N awR and it is 7°¥17 X71X and cannot be brought as a awK J2p.

¥ According to *¥1pn "7 there can never be a question regarding an owX that he should stipulate, for there is the
concern of 771¥2 P11, Therefore this answers the question in the previous awR 81271 11"7 '01n as well. See “Thinking
it over’.

? Mmoo mentions 77 (more than 2°%w) because there are many 791 M1277 which are obligatory.

' See footnote # 8.

" See w"wn.
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